0 8 4 ERRENT KB T A ARR A E R RS AR
¥ (BP) : B - BT HWRYH

A B EHEMAE K 4 ZhES
BRXFE

---------------------------------------------- - ST TEECEEER,) oot GRS
(1) EBWFFVRPIZDOL WA EZRD, THEEGHEETOE>THPT5 L.
I
H= Ea(cos @, + cosB,)

(2) — DN D —HDMNERITRITTHERD, ThEEHeRicblo TR T2 L,

=t ([T o)

2na



0 8 4 BRI E VR A B T 2R BR AR A S Al R AR T AR

28 (BP) : 8 - BFIERRER

i BRBE:EMHA B K # ZHE S
S B

------------------------------------- e (BBRTHEDFIRBATAIL,)  commrmeemmememem s

(1)

E
i(ty) = I

(2)
i(ty) =0
v(t,) =E

3
di(t)

L—F'l' Ri(t)+v(t) =0

4)
dv(t)
dt

i(t)y=c=C

(5)
R 2 di(t) 2 _CE?
Ri(t) dt——LJ;l l(t)—'d—t—dt—ﬂl U(t)t(t)dt-—T

ty



DA 8 4F EERRIRRE K 2 B T2 ER AR A 2 A B R AR

FR(EP) B - BT ERARTR

KB M H WM A £ # DT
i 2R o] R
---------------------------------------------- R e (B YR T e Wb, (R —
1
cD
{1 00 01 11 10
AB N\—ooo :
00 L1 | 1
01
11 f1 i1 o1
10 b1 |1

(2)y Y =AC + ABD + ABD

[ 2

(1) N=4 (2)

(3) 2EAHE

(4) M=8
IHEAY OIS 2 RAE X 4 1KHE



40 8 4R BEARIRE 37 R 52 B T 2R HHR A SRR B AR AR
SR EP) : 5 - BTHEREH

AEBRBBE -EMF B K 4 ZREE

BYTY

MEZZhI Y TiIzRATEZE.)

M @ pZ (b) n% () HiE

() 7=/ IHEfIE Er &KL

i EEH el B
SR S P
bR | smmemn Er “s

........ E
........ E ISR X0y
F (FEI D

T FH {5+ & F

(a) pBY (b) nEY (c) Ht%

(3) B H7ABREERFOLDITITFRAEO =R XF—FRINT D MENH D, AMEREORFO=x
NR—TIEIHTZADNAY FX ¥ v T2z 2BROETFRHE (ZRXVF—RIR) ZEIER0, Lo

THZ ZEERICRZ D,

@ () MRSy PSS L LT RAF—E L OBRE LTRRLEE %, M0 L5 IS
FHED |t & (B T DB — B b O A EIEERE T, B2 b 0NMSERR THE, Mk

BBRAOESITEFOBRIZ 74+ / v OMTERKLEIIR B,

TI*”"*“’— E Axtnx—-£
Ky 2 i3
EiEES ? i} R ¥y T Sg\f‘% - v t INUEFxyT
/_ /—
(i T
- B
T K it

(5) ZEX¥VTREFIRDIOTEFOIY IV TEELZnELT
% =385 x 10% m™S

6) BEE X p=50x10"1m?/V-s



470 8 F AR E M R T2 HR A SRR ARE iR

28 (BP) : ¥4 - BRHHAEH

A B A A - FMHA A K 4%

ZHRES

A AL

(1)

BB NI TIRATIZ L)

(4] <65,E> <86,35> <85,1> <70,FF> <90,8> <63,{t> <85,13> <92, ih>
[B] <65,E> <70,EE> <85,}> <63,{b> <85,23> <86,5> <90,%> <92 iti>
[E] <63,{t> <65,E> <70,FE> <85,44> <85,43> <86,3> <90,#> <92 ib>
(2)

-1 | [F dt, left, r (6] dt, I, right

(2-2)

[A]

<85,2> <65,H> <63,{t> <70,FE> <85,1> <92 }b> <90,%> <86,3%>

[B]

<63,{k> <65,FH> <85,> <70,FE>

(E]

<63,{bt> <65,E> <70,FE> <85,13> <85> <86,%> <90,#> <92, ih>

(3)

sortl

sort2

-

(B2, BHilids 3 WIdBEE) &Y — k
HLLE NRNTY=F

94v9J=F






